





Difference of Squares

Directions: Simplify the following polynomials,

w)ﬁ&rl-lyp o (r+d)x-4) = 9 - X“‘%lﬂ
o (5m+1)(5m-1) :asm ""5"!."'5“[“‘:& Sm i
Xg : q_x o (2a+3b)(2a-3b) 4q= Qﬂb‘l‘hﬂb-qb Lkl —qb
‘ [ This resulting product is called
a DIFFERENCE OF SQUARES. g
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DIFFERENCE OF Use the following rule to factor: @2 =52 = @j:b)‘@:

SQUARES Check your work by distributing!

1.) A "minus" sign
2.) Two terms
3.) Perfect squares + even exponents




EXAMPLES

each difference of s

quares. Check your work by

c :
distributing. If a polynomial cannot be factored, write "prime.”
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S i have to take out the GCEF first
écluding Variables)in order to have a Difference

of Squares.

Example:
48a°- 12a GCF =lday

ldo.  1Qa,

When you write your final answer the GCF goes
outside your two ()



Direction Lookf a GCEF first, then factor the remaining difference o
eck your work by distributing.
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Entrance Ticket
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